
MATHS

BOOKS - KALYANI MATHS (ASSAMESE ENGLISH)

TRIGONOMETRIC RATIOS OF CERTAIN ANGLES

Example

1. Find the value of 

Watch Video Solution

5 sin2 30° + 4 cos ec260° − cot2 45°

sec2 60° − tan2 60°

2. ABC is a right angle triangle right angled at C. If angle A= 60°

and AC= 6cm . Find CB and AB.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_svWM0CMnQ4R2
https://dl.doubtnut.com/l/_WHCeeeIspIv7


Exercise

Watch Video Solution

3. If , show that 


.

Watch Video Solution

θ = 30°

3 sin θ − 4 sin3
θ = sin θ cos 2θ + cos θ sin 2θ

1. Evaluate:

Watch Video Solution

cos 45 cos 60 − sin 45 sin 60

2. Evaluate:

Watch Video Solution

(cot 60)2 + (sin 30)2 − (cos 90)2

https://dl.doubtnut.com/l/_WHCeeeIspIv7
https://dl.doubtnut.com/l/_22GPEzFosUdW
https://dl.doubtnut.com/l/_hr2iLZxXqEJh
https://dl.doubtnut.com/l/_1kDriDYor2oT


Watch Video Solution

3. Evaluate:

Watch Video Solution

(cot 30)2 − 2(sin 30)2 − (cos ec45)23

4

4. Evaluate:

Watch Video Solution

sin 30 + tan 45 − cos ec60

sec 30 + cos 60 + cot 45

5. Evaluate:

Watch Video Solution

cos 30 + sin 60

1 + cos 30 + sin 60

6. Evaluate:
(sin 30)2 + (cos 45)2 − 4(sin 30)2

2 sin 30 cos 30 + tan 45

https://dl.doubtnut.com/l/_1kDriDYor2oT
https://dl.doubtnut.com/l/_ksFlPdudTcaV
https://dl.doubtnut.com/l/_hgIEYy57jYUa
https://dl.doubtnut.com/l/_AJA1hLY4WvQU
https://dl.doubtnut.com/l/_mzPIZBrbjUmK


Watch Video Solution

7. Evaluate:

Watch Video Solution

(tan 60)
2

+ 4(sin 45)
2

+ 3(sec 30)
2

+ 5(cos 90)
2

cos 30 + sin 60 − (cot 30)
2

8. Verify:a.

Watch Video Solution

sin 60∘ =
2tan 30∘

1 + tan2 30∘

9. Prove that:

Watch Video Solution

cos 60 =
1 − (tan 30)2

1 + (tan 30)2

https://dl.doubtnut.com/l/_mzPIZBrbjUmK
https://dl.doubtnut.com/l/_XAFeHtva8097
https://dl.doubtnut.com/l/_k8AxspfO5u5M
https://dl.doubtnut.com/l/_QlmoZz6RjDDX


10. Prove that:

Watch Video Solution

= tan 30
tan 60 − tan 30

1 + tan 60 tan 30

11. Prove that:

Watch Video Solution

( )
2

=
1 + cot 60

1 − cot 60

1 + cos 30

1 − cos 30

12. Prove that:

Watch Video Solution

((sin 0 + sin 60) (cos ec30 − cos ec90)) = ( )
cos 60 + tan 45

tan 30 + cot 60

9

8

https://dl.doubtnut.com/l/_C8luuLUWHoe4
https://dl.doubtnut.com/l/_ASxJgkkrQdHg
https://dl.doubtnut.com/l/_upbkoKRlGQPl


13. Prove that:

Watch Video Solution

( ) + ( ) = √3
1 + 2 sin 60 cos 60

sin 60 + cos 60

1 − 2 sin 60 cos 60

sin 60 − cos 60

14. Prove that:

Watch Video Solution

(sec 30)2 − − (cot 30)2 = 0
2 tan 30 cos ec60

1 + (tan 30)2

15. If  and  , verify that 

Watch Video Solution

A = 60⁰ B = 30⁰

sin(A + B) = sin A cos B + cos A sin B

https://dl.doubtnut.com/l/_vByzymF7i8n2
https://dl.doubtnut.com/l/_Hbbgk9jOv3dm
https://dl.doubtnut.com/l/_AYh1LXAvS8SP


16. If  and  , verify that 

Watch Video Solution

A = 60⁰ B = 30⁰

sin(A − B) = sin A cos B − cos A sin B

17. If  and  , verify that 

Watch Video Solution

A = 60⁰ B = 30⁰

cos(A + B) = cos A cos B − sin A sin B

18. If  and  , verify that 

Watch Video Solution

A = 60⁰ B = 30⁰

cos(A − B) = cos A cos B + sin A sin B

https://dl.doubtnut.com/l/_dupkTcAdiK3g
https://dl.doubtnut.com/l/_78ZOHO6XzO8E
https://dl.doubtnut.com/l/_JCW52kxyAik5


19. If  and  , verify that 

Watch Video Solution

A = 60⁰ B = 30⁰

tan(A + B) =
tan A + tan B

1 − tan A tan B

20. If  and  , verify that 

Watch Video Solution

A = 60⁰ B = 30⁰

tan(A − B) =
tan A − tan B

1 + tan A tan B

21. If  and  , verify that 

Watch Video Solution

A = 60⁰ B = 30⁰

sin(A + B)sin(A − B) = (sin A)
2

− (sin B)
2

https://dl.doubtnut.com/l/_BjACbY1rNHTW
https://dl.doubtnut.com/l/_wJU6rzpQxBt6
https://dl.doubtnut.com/l/_BDsLWlXtvJ3j

